(%22 HE) IREHEERER

SHM6F4A1BNLTM7EIAITHET
SN E —REHREE TAZ 7 VNEEYRBRESHREE

£  H £ H B # H RB " # B wEmE | 'E
1 FEEBIZOEL
1. FEEENIVA

LA 2EIA
SFWA 13,370,000 RN 13,370,000
HELA HEWLA MEUA
- FAEFLEINA 15,626  HIERIBILA 5,950 FEA T BN 9,676
BTN BRI A
FATHE BRI A 11,371,800 o5 A A AR BRI A 11,371,800 276 %
ZOMERERIXA 10,878,120 ) _ Z O ORERUXA 10,878, 120] % #1:h-50034 80
AMEIA AREIA
AEAIIAL 1,292,500 B AL 1,292,500/ 44t th22 K0 E uhCL4)
FAHEINAZ 1,024,530 LU AL 1,024,530 & B 22 L0 g5 fadi)
YONE 37,952,576 HEIFBULAG 13,375,950 FRER UL G - 24,576,626
PRE =TT R
1% - ] .
) ...ﬁﬁ’mxtt'. 1,222,551 EaEE U . 1,200,551 |65, fidrs (AR & L#%
I - 113,949 FEHER L 113,949 | 5%
150,000 n%’ faf e K 150 000 de g i, EBRAFTE
_f't‘.‘ﬁ'é'a fz\ﬁ'im [ 85,800] % %rl{bﬁ'ﬁfﬂ ) 85,800| 84 @ 7v b
MHERSREM 88,740 é:hf (R X1 88,740| i &% )
RE#FR 369,249 AEBRI ! 369,249| =7 K&, (U)K Y 7
)R T ¥ I 894,183 JEWRITR XN 894,183 JH&,H FLI AU A5
HIFEAES# XN 49,010 & RS B L 49,010 | SR % B
HFE B 2 H 168,982] UH&%}LH‘ 168,982 | LX T IFE 23, RIGHIME S
KaEASR I 13,980]  ERSHER) N | 13,980 | x4 %
/\}\l:l‘—-/l/ﬁj){r 0 /\]xcl—/lxﬁ’jzﬁ_, 0 rI'_lJ:)A‘/E/\I \— /L
ﬁ«_’_%_!__’if:i#jztﬂ | 168,981 ,L’?‘F" e K Y 168,981 | B 5 R AE T
e ke Sl 395,810 LR A 395,810| A7z T Ak
WHE |
fia - S 19,390,000 Bk B A6 5 3 HY ‘ 3,486,000 ik 2 24, a5 300 15,904,000 Mk 5%
A 2,681,375  WREAE XM 634,914 He A R S AU % (5 E HF B SCH 1,682,742

| wERE A 263,719




ERERXHAE

—REEREE

TAZ77VNEEYRBESHREE

Bt ® H RE £ H REEH i % £t | REH i &
SN 0 R S 0]
{Headi g 0 {1t bh B S 0
IREA B S H 1,146,005 {HEEM B SO 56,488 | FH5H i $ei% A1 2 S 28,751
I {HIE n_%itxtl' 1,060,766 | i#EGi %
@_1’.‘.%)4:14 491,443 W E 90,086 wEH _ 401,357 | AR, C-Ottice )1 %
ife 44,600 Nk A ih S 44,600 ;mf‘iscui%xu. _ 0
3,855,900)  SEfEEEHH 1,281,900 H 57 K sk LG5 6 01 2,574,000/ 38097 (i
965,723]  fEEHEE S 252,923 | #F Bt an) — A pHE (IR 1 712,800[PC/ 9 ki) — A (&
%ﬂ%ﬁ'xm 0 S 0 .
n?”%ﬁﬁ’ S 503,280 B HEE S 149,896 [ kL, FECRH% [0 2 9T £ S 33,720/
MEZ 32 319,664 | 45750 i 5
L X rl‘ 302,000 AR I B 302,000 155 B 5% )
~ (G} ‘U% o] R 0
. 68,064 FBLATR X 11,710 | FAGE FLF AT 56,354 i # Bk
;ﬁ[&’%(;{_ ;% B 190,834 B T 2 S 190,834 | it s ivffit ‘
IS 2 (P S 1,650,000 ERERR 1,650,000 | {E il H _ |
RS | 2 565,000] UMk AT 51 24 4 K1Y 250,000 TS S e i 315,000,
& f}ﬂf){f]‘ 1,309,442 BT YN 1,309,442 | iR 5xE8avdy /)
S 722,810 B ﬂ%f ériam 722,810| Mg s s 5%
w_m__xw 28,042 REHE S 08,042 W8 1 )| 15155
_HJULH%’&H‘. 89,820] JL%M%% i 89,820/
55,954 tpq_@m A 55,954 i\ 6%
105,750 (B S HY 105,750/ A e iz, T2 b
1,293,521 aft FHOREZ I 1,293,527 | A5 {1+ 411 45 k) %
0 P4 3 0
1,305,350 M{ﬂﬂélll}c;i' 1,305,350
Bl 0) PEGE I 24 (0) |3smig e
ﬂusmﬁﬁi(mﬁm 1,011,200 FHLFE 2N G B A 1,011,200
Pl SN AR 121,000 S P B A1) 121,000
SIHEEN 41,518,354 12,122,586 29,395,768
I ST FERR A 3,565,778 1,253,364 A 4,819,142




